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I Semester B.Sc.3/B.Sc.4/B.S.S.T. Examination, November/December 2018
ENGLISH (Basic)
Vibrant English
Time : 3 Hours Max. Marks : 80
I. Answer the following objective type questions in a sentence each. (10x1=10)

IL

II1.

IV.

1) What movement demands democratic behaviour ?

2) On what basis is Indian civilizational heritage built ?

3) Where was the portrait of grandmother hung ?

4) Where was a Coffee House located ?

5) Who said “It takes two to speak the truth” ?

6) What according to Parthasarathy, irritates the tongue ?

7) What is the theme of the poem The Pardah Nashin ?

8) Who is the author of the poem Mirror ?

9) Who filled the days of W.B. Yeats with misery ?
10) Who wrote the poem ‘To Blossoms’ ?

Explain the following statements with reference to their context one from prose and one from
poetry : (2x5=10)

1) Oh God destroy the ‘me’ in ‘we’ and stand thou in my stead.

2) We felt sorry for the birds and my mother fetched some bread for them.

3) Who shall prevent the subtle years or shield a woman’s eyes from dears ?

4) Tam silver and exact I have no preconceptions. ’

1) What are the characteristics a country needs to have according to Abdul Kalam ?  (1x10=10)

OR
2) What are the observations made by the Chinaman ? Explain.

1) How does the Pardah Nushin poem critique the cultural practice of Pardah ? (1x10=10)
OR

2) How is the true picture of woman presented in ‘Mirror’ ?

Write short notes on any one from prose and one from poetry : (5x2=10)

1) No conflict between religion and science.
2) Good manners.

3) Blossom flowers.

4) No Second Troy.

P.T.O.
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VI. A) Fill in the blanks with suitable articles/prepositions :

1) Nicobar islands attract lots of tourists.
2) Jyothiis university student.

3) The man jumped the river.

4) Get me a glass water.

5) Shashi gets up 5’0 clock everyday.

B) Change the following sentences as directed :

©)
VIL. a)
b)

1) The gossip is too good to be true.
(Remove too, use so...that)

2) If you don’t study carefully, you will never understand Physics.

(Remove if use unless) -

3) Very few boys in the class are as tall as Hemant.
(Make it comparative)

4) Itisa great victory.
(Make it exclamatory)

5) No sooner Tara had stepped out, than it started raining.
(Use as soon as...)

Write a report on study tour.

Write a draft of self-introduction.

Prepare a draft of wel-come speech.

Write a dialogue between postmaster and customer who wish to open an account

in a Post Office.

(5x1=5)

(5x1=5)

(5x1=5)
(5x1=5)

(5x1=5)
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I Semester B.Com.3 Examination, November/December 2018

ENGLISH (Basic)
English Pearls
~ Time : 3 Hours ' Max. Marks : 80
I. Answer the following questions in a word, a phrase or a sentence as required. (1x10=10)

II.

I11.

IV.

1) Who was the woman faught for water in Kerala ?
2) What does internationalism persue ?
3) Whom does Tchervyakov tell about his breach of good manners ?
4) What is commerce ? _-
5) Who was the litile girl sitting on the bench ?
6) What is the theme of the poem ‘Leisure’ ?
7) Who is turned into a stone in the poem’ ‘Scratch’.
8) Whom does ‘The blue frocked’ woman refer to in the poem ‘Punishment in Kindergarten’ ?
9) Who has written the poem ‘The Felling of the Banyan Tree’ ?
10) What is seen as an enemy to man in the poem ‘On Killing a Tree’ ?

Explain with reference to the context on two of the following choosing one each from prose
and poetry. (2x5=10)
1) “Poverty is also further spread when public systems are privatised”.
2) “My neighbour sells me bad meat; I sell him in return flawed iron™.
3) Scratch a rock ‘
And a legend springs.
4) The banyan tree was three time as tall as our house.

a) How do the rich get richer and the poor poorer. 10
OR ’

b) Why does Ruskin call the mischief of commerce a Hydra ?

a) Write a critical appreciation on the poem “Punishment in Kindergarten”. 10

OR A
b} Describe the symbolic meaning of the poem “On Killing a Tree”.

Write short notes on two of the following choosing ene from prose and one from poetry. (2x5=16)
1) The difference between the globalization and internationalism.
2} John Ruskin’s views on ‘Merchant’. ‘
3) The process of cutting a tree as described in the poem “On Killing a Tree’.
4) W. H. Davies on modern man’s worried life.

P.T.O.
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Vi. A) Fill in the blanks with suitable articles and prepositions. {1x5=5)
1) He was honest king.
2) Harishis best boy in the class.
3) T met boy.
4) Distributes sweet students.
5) She cuts the fruit knife.
' B) Transform the following sentence as directed. , (1%5=5)

VIL )

b)

d)

1) Ramesh is too young to travel alone. (Remove too ... to)

2) As soon as the speaker entered the hall, all the members of parliament stood up. (Use
No sooner ... than)

3) What a great book it is I (Change it into Assertive)

4) 1f you walk fast, you can reach the college in time. (Use unless instead of ‘If”)

5) Iron is more useful than any other metal. (Change into superlative degree)

Prepare a draft copy of the intl_‘oduction of the Chief Guest of the welcome function of the

students of your college. (1%5=5)
As a General Secretary of your college, draft a copy of vote of thanks of Annual Day

Function. o (IX5=5)
Expand any ene of the following proverbs into a paragraph. (1x5=5)

1) Barking dog seldom bites.
2) As you sow so shall you reap.

Bhavana visits to the clinic for the treatment. Prepare an imaginary dialogue that takes
between Bhavana and doctor. , (1%5=5)
a} Bhavana : Hello doctor, I am feeling very sick. ’

b) Doctor :

¢) Bhavana :

d)} Doctor :

¢) Bhavana :

f) Doctor:
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1 Semester B.Com.2/B.Com.3 Examination, November/December 2018

ENGLISH :
Indian Prose for Effective Communication (Repeater)
(Basic)
Time : 3 Hours Max. Marks : 80
[.  Answer the following questions in a word, phrase or a sentence each. (10x1=10)

1) What were the constant and unfailing companions of Dr. Radhaknshnan ?
2) What was the Sastri’s most cherished dream ?
3) What does Tagore mean when he describes the English Toyas ?
4) Which book was rang the bell of alarm to his ear and he awoke ?
5) Which is like a master key in ‘The World of Sport’ ? :
6) Who is the former Indian cricket captain and great all rounder from Haryana achieved a
landmark ? _
7) Which is the Vitamin necessary for blood vessels for strong bones and teeth ?
8) Who is Rajeev Bagga ?
9) How does the rabies virus has enter to the human body ?
10) Who is a reputed expert on food and nutrition ?
II. Write short notes on any four of the following. (4x5=20)

1) Radhakrishnan’s mental make-up and social behaviours.
2) Sastri’s idea of a united Indian nation that cherished beyond all danger.
3) The change witnessed in the boy who came to acquire the English Toy.
4) Gandhi’s ambitions also grew like the family of the recluse.
5) Winning is like a master key. It opens every door.
6) Ira Saxena’s views on watching T.V.

III. Answer amy two of the following questions. - (2x10=20)
1) “‘What I Cherish Most’ concludes on a note of hlgh hope ? Explam
2} Discuss Gandhi’s life in London.
3) Write a note on Vishwanathan Anand’s achievement as a chess player.-
4} Write an essay on Rabies and its remedy. EI

IV. a) Fill in the blanks with suitable articles. o ‘ : (5x1=5)

1) Hemade excellent speech.
2) Itis universal truth.
3) Sunday is holiday.
4) April is hottest month.
5) Water is source of all life.
b) Fill in the blanks with suitable prepositions. Gx1=5)
1) The property was divided the two brothers. '
P.T.O.
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V.

VL

2) Krishna has been ili Monday.

3) The cow was tied by the former arope.
4} 1 prefer tea coffee.

5) He shot the space.

a) Give the synonyms of the following. : (5x1=5)

1) Freedom
2} Intetligent
3) Labour
4) Honesty
5) Royai.

b) Give the Antonyms of the following. _ (5%1=5)

1) Brave
2) Tender
3) Hurried
4) Begin
5) Beauty.

Read the following passage and answer the questions given below. (5x2=10)

There is an enemy beneath our feet— an enemy more deadly for his complete impartiality. He recognizes
no national boundaries, no political parties. Everyone in the World is threatened by him. The enemy is the
earth itself. When an earthquake strikes, the World trembles. The power of aquake is greater than anything
man himself can produce. But today scientists are directing a great deal of their effort into finding someway of
combating earthquakes, and it is possible that at sometime in the near fiture mankind will have discovered
ameans of protecting itself.

An earthquake strikes without warning, when it does, its power is immense. An earthquake in Lisbon in
1755 destroyed the city and killed 450 persons. Int Peru 50,000 people died in an earthquake in 1970.

In 1968, an earthquake Struck Alaska. As a result the subcontinent of Alaska was pushed 80 feet into the
sea.

Questions :

1) "Who is the enemy beneath our feet ?

2) Why is the enemy beneath our feet more deadly ?

3) How does an earthquake strike ?

4) What was the effect of an earthquake when it struck Lisbon in 1755 ?

5) When did an earthquake strike Alaska ?
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HINDI (Basic)
New (Fresher)
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IL.

II.

IV.

VL
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3) il TR FT, SiFreladt ) T A % fore v R fafigg )
4) R FIS F THEA F forg I @ 7= Aira g et e S A o fafa |
=t 1 argare fifsw 10

When Nehru died, the question before the country was ‘who’ after Nehru 7 Lal Bahadur was
there to fill his place. He was elected as the Prime Minister. He boldly faced the problem
of Indo-Pakistan in 1965. He wanted these two countries to live as peaceful neighbours. Lal
Bahadur was born in poor family. Even as Prime-Minster he was very simple. For his great
services he was honoured with ‘Bharat-Ratna’.
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I Semester B.Com.3 Examination, Nov./Dec. 2018
SECRETARIAL PRACTICE (Regular)

Time : 3 Hours Max. Marks : 80

1.

Instructions : 1) Answer all the Sections according to internal choice.
2) Section ~ D, case study question is compulsory.

" SECTION - A
Answer any ten of the following : (10x2=20)
a) What do you mean by company limited by guarantee ?
b) Define prospectus.
¢} What is preference share ?
d) What is government company ?
¢) What is Annual General Meeting ?
f) Who is alternate director ?
g) State any two rights of company secretary.
h) What is private company ?
i) Can a company that has M.D. appoint a manager also 7
i) What is Resolution ?
k) Who is proxy ?
1) What is statutory meeting ? When it is called ?

SECTION -B

Answer any three of the following : | (3x5=15)

2.

What are the rights of company seéretary ?

3. What is Quorum ? State the provisions relating to it.
4,
5
6

Who is managing director ? How he is appointed ? _

What are the differences between private company and public company ?

. What are the methods of acquiring the membership of company ?

SECTION - C

Answer any two of the following : (2x15=30)

7.

- What is Memorandum of Association ? Explain the contents of Memorandum.

P.T.O.
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8. Define company secretary. Explain the qualities and qualifications of company secretary.

9. Who is director of company ? Explain the powers and duties of Director of company.

10. Explain the different kinds of companies.

SECTION~-D
{(Compulsory)

Case Study :
11. a) Mr. Anand is a director of AB Co. Ltd. As he is going on long foreign tour, he called his
friend Mr. Basu to act as an alternate director in his absence. Is it valid ?

b)

(1x15=15) ~

Mr. Rakesh is already a director of 15 companies. He has offer to act as a director of two

more companies viz.
i) Nihal Sport Ltd.
il) Fine Co. Ltd.

Comment on whether Mr. Rakesh can accept the appointment.

A listed company having paid up share capital of ¥ 10 crores and it has appointed an

secretary who has passed intermediate of ICSI. Is it a valid appointment ? Explain.
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(10x2=20)

(3%5=15)
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I Semester B.Com.2 Examination, Nov./Dec. 2018
SECRETARIAL PRACTICE

(Repeaters)

Time : 3 Hours

Max. Marks : 80

Instruction : Answer all the questions according to the internal choice.

SECTION -A

1, Answer any ten of the following :

a)
b)
c)
d)
€)
f)
g)
h)
i)
)
k)
Y

Who is secretary ?
What is charter companies ?
What is fieu of prospectus ?
Give any two disqualification of company directors.
What is special resolution ?
What is minutes ?
Expand : i) NCLT ii) ICSL.
Who is proxy 7
Define ‘Company Directors’.
Who is promoters 7
What is quorum ?
Define ‘Joint Stock Company’.
SECTION - B

Answer any three of the following :

=t

Distinguish between public company and private company.
Explain qualification and qualities of company secretary.
Give the contents of Articles of Association.

~ Explain chairman powers in the meetings.

Explain about minutes.

(2x10=20)

(5x3=15)

PT.O.
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SECTION-C

Answer any two of the following :

7. Explain various types of companies.

8. What is memorandum of Association ? Explain its clauses.

9. Explain legal provisions relating to company meetings.

10. Explain powers, rights and liabilities of company Directors.

SECTION -D

Case-Study (Compulsory) :
11. Supreet Groups wanted to start new Public Ltd. Company, how do you suggest steps for .

formation of company.

v ey
dn—~A

1. 2 $nsgined, vieon w8E, evgoro:

a)
b)
c)
d)
e)
f)
g)
h)
i)
i)
k)
)

B OlF T8F 03 0IRT> ?

IR B wor3Sedy 7

WO T3 T womerd 9

Roxos> AT TR 2O RBrINTS) Bewo.

e BT 20T ?

woBs: IO Y dorved 7 (K03 )

NCLT =) ICSI nds; axos.

3 (Proxy) oot ol 9

"BoRos> RTerTe’ A0, AR,

S8 oS aRth 9

R0 0T3¢
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ogen—-B

MG mag* BOIORD :
2. T EEEOd B eRNEcsne SENS ﬁﬁm FeoD.
3. FemRed HODFTBEF oD BBFIN K ROEOTIFR) SO

R A T A

(15x2=30)

(1x15=15)

(2x10=20)

(3%5=15)
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I Semester B.Com.2/B.Com.3 Degree Examination, November/December 2018
(Fresh and Repeaters) (New Syllabus)
ECONOMICS

Paper —1 : Business Economics —1

Time : 3 Hours Max. Marks : 80

Instructions : 1) All Sections are compulsory.
ARt o g v il DD DTINNL B OLTONG.
2) All sub-Sections should be solved continuously at one place.
QR FJIAONL LSO FBII>N e F6 Lo
3) Draw diagrams wherever necessary.
OTZ VDO JeouiZ ATl A0,
SECTION — A
g - o _
[. Answer any ten of the following in 2 — 3 sentences each. (10x2=20)
NS tdemd B JIren 2 — 3 gAY evgond.
a) What is opportunity cost ?
Reoe5o8Es 3, ontesd ?
b) Define autonomous demand.
7,003 LeBBOI 559,359, %.
¢) What is ‘decrease in demand’ ?
“23eR3B00 VYE * oTTER> 7
d) Give the meaning of normative science.
‘ammwcg BRE0d R ORFR, 3RO,
e) What is composite supply ?
Roctog 8 dotides 2
f) Q, = f(p) is the supply function. Identify the independent variable in it.
Q, = f(p)apgen 30, arTO 3,308 dorsR) R0,
g) What are ‘perishable’ goods ?
‘B8R0’ TRyrPorsderd 7
h) Give the meaning of explicit cost.
‘=3 33 ’waﬂrsai&w&.

P.T.O.
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1) Calculate average cost, when
i) Total units produced = 50
i1) Total cost =¥ 700
Roamo ) TG woBnvon O Snad.
1) 2.43) ST Pragrish = 50
i) e 3 =3 700
i) Mention any two determinants of supply.
BPYIoD PRI ST A TIRT) IO
k) What is internal economies of scale ?
$0308 Q0BT DoTTeRd 7
1) State ‘Cobb-Douglas’ production function.
‘BWT-BIRT U0 SSITTD WOWBIR) BeWD.
SECTION - B

STON - W

Answer any three of the following. (3x5=15)
FNTINVY, ARPTRTTR $00TE, SUZBA0.

2.

Explain in brief fundamental concepts of business economics.

FRE0T SPrERE RPORRS BOFER) ROIFTN HTOO.

Give the meaning of price elasticity of demand. Calculate price elasticity of demand from the
following data. ’
P =X15 Q, = 10,000 units

P,=%20 Q, = 8,000 units _

365 L3608 3T PrRY 302D 136 13eRF AIRDTIZ, TR, N 0BT 0.

P, =ga. 15 Q, = 10,000 pusnsb

P, =ge. 20 Q, = 8,000 megnsd

Explain the distinction between average cost and marginal cost with diagram.
RODRD 34, 33083 w02dd e SRR Feato 13 BROAR FOR.

Exptlain the types of external economies of scale.

T, DT 0N DPRT) HSORO.

Discuss the modern factors of production.

SR SUBIED 30BNTR, 3 RD.

SECTION - C
QPR - 7

Answer any two of the following. (2x15=30)
BINSINY, CARITRTAR SO, L3O,

7.

8.

Explain the law of demand with suitable diagram and mention its exceptions.
‘wedgod DEWRTRY,’ X Seamd WETPOOR DBOXD B XS LTTEAYR) FROAD.
Discuss the types of price elasticity of demand.

£33 wde s ASTTBI, QBRI 128 R0,
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9. Discuss the law of variable proportion and mention its exceptions.
2B TORREIT ACLROTR, Whdr A0 oz e OTRTRVR), TR0
10. a) Give the meaning of TC, FC, AFC, VC, AVC, AC and MC.

wad), 33, A0 g, Rooro RS, mm%mﬁomm%,m%aﬁgemwwrm

b) Calculate FC, AFC, VC, AVC, AC and MC from the following data.

e esob-Rosy i sooD00T AP 33, HOORO 4D Tl AR e, RRRO SRR hf, RRRD

R words Sn? S5 BREO.

Output in Units
OB PUIVE,
Total cost (in %)
wid) e (S8, WO

250 | 300 | 410 | 460 | 500 | 560 | 640

SECTION-D
Syt~ ©
11. Case let.
Read the case let and answer the questions below.
39 8ok, 43 QETRR 2.0 TS Zron 30RO,
.M. T. Watch Company has registered its sales during the iast five years as under.
. 0.8 T BoIRO TR 2T FRF T LB, TN e Inoots 8 $9nJods.

Year

Sxie 2012 2013 2014 2015 | 2016

Sales (in crores)

anou(gamsaamvey| 150 | 200 | 20 300 | 350

Questions :

By o

a) Define demand forecasting.
2o WOFOTOTRIR), w3, DR-

b) Calculate the sales of a HM.T. Watch Company for the next three years.
onadhs Bt SRENYRCR 1. 0. 8. FTICH BRTIWTIR), BOTHRO Inao.

¢) Should HM.T. Watch Company can continue its business in future ?
2;5&&%_%3@_, .08, B %mdﬁaigt 200soRwERTIe 7

(1x15=15)

12
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Reg. No.

I Semester B.Com.3 Degree Examination, November/December 2018

BUSINESS ENVIRONMENT

(Regular and Repeaters)

Time ; 3 Hours

1.

Max. Marks : 8%

Instructions : 1) Attempt all questions according to their internal choice.

2) Question No. 11 Section D is compulsory.
SECTION - A
Answer any ten of the following.
a) What is business ?
b) What is Micro-business environment ?
¢) State any two objectives of business.
d) What is economic business environment ?
e) Expand the following :
i) NEP ii) CSR.
f) What is political business environment ?
g) What is a business ethics ?
h) What is capitalist economy ?
i) What is socio-cultural environment ?
j) What is technological environment ?
k) State any two benefits of technology.
1) What is liberalisation ?
SECTION -B

Answer any three of the following:

Nk N

State any five Macro-business environmental factors.

Explain any five characteristics of modern business.

Explain benefits of business ethics.

State any five arguments in favour of CSR.

Explain any five characteristics of capitalist economy.
SECTION - C

Answer any two of the following.

7.
8.

Explain various factors of Micro-business environment.

Explain in brief factors of socio-cultural business environment.

(10x2=20)

(3x5=15)

(2x15=30)

P.T.O.
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9. Explain arguments in favour and against LPG.

10. Explain in brief economic role of Government in business.

SECTION-D

Case Study (Compulsory question).

11. You are Community Service Officer of company.

a) Suggest community service towards society.
b) List out community services towards customers.
¢) List out community services towards workers,
33 w3
BpuSnD: 1) wostr eaiisvain oo Fgnen egoze.
-2} Zgxa 11 (Dgon- @) smyab.
Dggerni- e

tewoss BIY, eVZOXD.

2) =RB0FoTeH 9

b) Reg, F=T0 DordSode: ?

C) RBZTT VR wc‘i@r{v‘@( Bewo,

d) 63 =00 BorcSewsesd 9

e) & ﬁ#nﬁ@ﬁ@aﬁi RO :

) o3 1) 2.7, e0°,

f) ooxsecd =3 [oRCSomded ?

£) ISBOBY, 283 wotsdesd 9

h) womemi 03 qwfn‘; Q0T ?

1) mmas—mo%éé BORTRBoBBeRd 7

j) =038 DoRSSorsdesd ¢

k) zo08330 canRmmmtn 8@ RPRYI), Bewod.

1) evoesdte wordesd 9

Dgon - w

wesors eth FBRVR ¢ugor.

2.

Ran FBEs BoRos wemr wrd ©08nY) Bewd.

3. wghas FRB0C Wewds wd ﬁamoﬁg@ﬁdﬁa Bewd,
4. T8wdnd, §3d8ch engindy QS0
5. mRneE SpBdrmddch S0 TR, TewD.
6. woRTRTZL BOTE sﬁm;oa: RARRHRTTR e rbmoitaﬂ#ail NTOXD.
aPon -3
Bems S0 FIAVT 0RO,
1. Reg, FBw0 TS BOBRLR), DaON0k

(1x15=15)

(10x2=20)

(3x5=15)

(2x15=30)
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8. ROSRrE-mooR, 3% F w0 HoRsw ©0BRYY, DIORD.
9. or.an.obdo e Hdeeg TOTRGR DSORD.
10. SI=00Y, RoBoS BHFE TR, DSORD.
g~ & _
BISes oS (T3 11 daed). {1x15=15)
11. 205 do=dadb 2.2, AS0EOD Beso SHTOIIA
a) RRE BRD HeSrd) R,
b) mEEd A omocd Besnvidy HERPAD.
C) TRFEC BBTROD RSPy, TSRO,
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Reg. No.

I Semester B.Com.2/B.Com.3 Degree Examination, Nov./Dec. 2018
(Regular and Repeaters)
Paper — I : FINANCIALACCOUNTING -1

Time : 3 Hours Max. Marks . 80

Instructions : 1) Attempt all Sections according to internal choice.

2) Use of simpie non-programmable calculator is allowed.
3) Section — D (case study} is compulsory.
SECTION - A | _

1. Answer any ten of the following : (10x2=20)

a) State any two features of single entry system. .

b) Why the debtors account is to be prepared 7

¢) State any two merits of single entry system.

d) Who is lawyer ?

e) What is work-in-progress ?

f) Name the different kinds of farm transactions.

g) State any two features of farm accounting.

h) What do you mean by inter departmental transfer of goods 2 -~

i) How do you allocate the expenses of advertisement and rent to the departments ?

j) What is shortworkings 7

k) How the minimum rent may be reduced in case of strike ?

I) Who is lessee 7

SECTION-B -

Answer any three of the following : , (3x5=15)
2. State the objectives of maintaining the books of accounts by a profession.
3. Find out cash received from debtors from the following particulars :

4
Opening debtors 5.000
Total sales 35,000
Cash sales 5,000
Bills Receivable received 10,000
Bills Receivable dishonoured 2,000
Bad debts 500
Discount allowed 1,500
Sales Returns 1,000
Provision for doubtful debts 1,000
Closing debtors 4,000

P.T.0.
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4. Record the following transactions in the columnar sales book of a dealer in fans, having ceiling
- fans, table fans and exhaust fans departments.
1-7-2018  Sold 400 ceiling fans at ¥ 1,000 cach and 200 table fans at ¥ 950 each to Anand
3-7-2018  Sold 100 exhaust fans for cash to Santosh at T 750 each
5-7-2018  Sold 1000 ceiling fans to Vijay at T 400 each at a trade discount of 10%
10-7-2018 Sold old furniture to Dinesh for ¥ 6,000
~15-7-2018 Sold 200 exhaust fans to Prakash at ¥ 900 each at a trade discount of 10%.
5. Prepare crop account from the following information :

4
a) Opening stock :
Wheat 1,00,000
Seeds | 20,000
Fertilizers h 30,000
b) Closing stock : o
Wheat _ 1,60,000
Seeds 15,000
Fertilizers 20,000
¢) Purchases :
Seeds 12,000
Fertilizers S . 18,000
d) Wages : - '
In cash ‘ 1,80,000
In kind (Wheat) o 20,000
¢) Sales : Wheat : 8,00,000
f) Wheat consumed by the proprietor 5,000
) Wheat destroyed by Rodents 8,000
h) Depreciation on Farm equipments 20,000

6. Acoal company took a mine on lease from Naveen of a Royalty of ¥ 2 per tonne of coal raised
with 2 minimum rent of ¥ 8,000 per year. The right of recoupment of shortworkings was out
of royalties during the first three years, A
The output of first five years has been as under :

Year Output (in tonnes)
2013 1,600

2014 2,000

2015 7.000

2016 12,000

2017 16.000

Prepare royalty payable chart from the above information.
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SECTION - C
Answer any two of the following : (2x15=30)
7. C.A. Ajeet, a Chartered Accountant occupied % of his residential house for carrying on his
profession. From the Receipts and Payments Account prepare the Income and Expenditure
Account for the year ending 31-3-2018 and also his household cash statement,
Receipts and Payments Account for the year ending 31-3-2018.

Receipts ¥  Payments 4
Cash in hand and cash at Bank . 60,000 Salary to staff 18,000
Audtt fees 2,00,000 Rent 12,000
Tax consultation fees 60,000.  Printing and Stationery 5,000
Motor car expenses 25,000

Light charges 8,000

Telephone charges 6,000

Institute Membership fees 750

Professional Journais 7.500

Drawings 1,20,000

Cash in hand and cash at Bank 1,17,750

3,20,000 3,20,000

Other information :
a) The office staff devotes 25% of its time to the household work of C.A. Ajeet.
b) Motor car is used equally to office and personal purposes.
¢) 60% of the light charges to be considered for his profession.
d) The value of family investments is % 2,00,000 for which interest is received at ¥ 2,000
per month,
e} C.A. Ajeet is the owner of a house for which rent at % | ,300 per month is received.
f) Annual expenses of his household are : Food ¥ 1,20,000, clothing ¥ 30,000 and
Miscellaneous expenses ¥ 6,000
8. The Ganesh Traders Ltd. took a mine on lease from Shankar at a royalty of ¥ 200 per tonne of
coal raised with a minimum rent of ¥ 80,000 per annum. Each year’s excess of minimum rent
over the royalties, is recoverable out of the royalties of next two years. In the event of strike
and the minimum rent not reached, the lease provided that the actual royalties earned during
the year will discharge all the rental obligations for that year.

The output for five years were :

Year Output (in tonnes)
2013 250

2014 360

2015 500

2016 (strike) 350

2017 800

Prepare the necessary ledger accounts in the books of the Ganesh Traders Ltd.
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9. Fromthe following Trial Balance and other information of Green Farms prepare Crop Account,

Livestock Account, Profit and Loss Account for the year ending 31-3-2018 and the Balance
Sheet as on that date -

Debit Balances ¥ Credit Balances 3
Opening stock : Sales :
Livestock 37,500 Livestock 12,000
Paddy 15,000 Paddy 53,000
Cattle feed 2,750 Miik 39250 1,04,250
Fertilizers 1,250 . Sundry creditors 6,500
Seeds 750 57,250 Outstanding Expenses L100
Purchases : -- |
Livestock 7.500 Capital account 1,10,450
Cattle feed 15.000
Fertilizers 4,000
Seeds 1.450 27950 ’
Sundry Debtors 5.250
Repairs and maintenance 3,000
Farm equipments 37,500
Crop expenses 12,600
Livestock expenses 3,125
General expenses 2,925
Cash in hand 1,825
Cash at Bank 2,125
Land and Buildings 68,750 , ,
2,22,.300 2,22,300

Other information :
a) Stock on 31-3-2018 : T

Livestock 33,000

Paddy 7,500

Cattle feed 1,500

Fertilizers 875

Seeds 675
b) The consumption of farm output by the proprietor :

. A
Milk 1.500
Paddy 2,375

¢) Provide 10% depreciation on farm equipments and 2% on land and buildings.
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10. Mr. [shwar keeps his books of accounts on single entry system. He gives the following
information :
Statement of affairs as on 1-1-2017

Liabilities T Assets T

Creditors 36.000 Debtors 20,000

Bills payable 3,600  Stock 30,000

Capital 89,400 Plant 40,000

Buildings 32,000

Cash _ 2,000

Bills receivable 1,000

Furniture 4,000

1,29,000 1,29,000

Cash Book for the year 2017

Receipts ¥ Payments k¢

To Opening balance 2,000 By Bills payable 2,000

To Debtors 60,400 By Creditors 35,600

To Cash sales 20,000 By Cash purchases 4,000

To Bills receivable 600 By Office expenses 3,000

' By Wages 10,000

By Carriage inward 3.000

By Duty and octroi 1.000

By Salaries 2,400

By Printing 1,600

By Drawings 16,000

By Closing balance 4.400

83,000 83,000

Other Information :

£4
Credit sales 91.000
Discount allowed 1.000
Credit purchases 40,000
Discount eamed 2,000
Returns inwards _ 1,200
Returns outwards 1.000
Bills receivable received from debtors 1,400
Bad debts 1,000
Bills payable accepted 4.000
Stock on 31-12-2017 41.000

Provide for doubtful debts @ 5% on debtors. Depreciate plant and furniture by 10% cach
and building by 5%. Prepare the Trading and Profit and Loss Account for the year ending
31-12-2017 and Balance Sheet as on that date. o

i
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SECTION-D
Case study (Com pulsory) : (1x15=1)
11. From the following balances extracted from the books of Kiran Departmental Stores. Prepare

a) Departmental wise

Particulars A B C
3 4 3
Stock on 1-4-2017 34,000 29,000 13,600
Stock on 31-3-2018 33,480 24,100 26,000
Purchases 70,000 60,000 50,000
_ Sales 1,20,000 1,00,000 80,000
b} Common for ali departments :
T
Salaries 21,000
Rent 18,000
Discount allowed 4,800
Discount earned 7,200
Carriage inwards 21,600
Manager’s salary 30,000
¢) Inter departmental transfer of goods :
T
AtoB 9,600
AtoC 2,800
BtoC 6,400

d) The cost of service rendered by department :
Ato C T 3,200
¢) Other information -
i) Department A and B are on the first floor occupying equal area and department C is
on the ground floor.
ii) Salaries are for ground floor 1/3 and for first floor 2/3.
iil) Number of employees in the first floor
A:4andB:3
iv) The rent of department C is T 800 per month
v) Manager’s salary is to be divided equally,
Questions :
a) If any department is incurring loss suggest whether to close the department or not ?
b) If not to close, suggest the suitable changes to be made to improve the efficiency and
profitability of the departments,
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2
I Semester All U.G. Degree Courses g 3
Examination, Nov./Dec. 2018 § g"
INDIAN CONSTITUTION S =
(Regular) o
=z
o

Time : 9.00 a.m. to 10.30 a.m. (90 Minutes) Max. Marks : 80

Instructions : 1) The question paper will be given in the form of a question paper
booklet.

II) Each question is provided with four choices A, B, C and D having
only one correct answer. Choose the correct answer and darken
the bubble corresponding to the question number using Ball Pen
(Blue/Black) in OMR answer sheet.

III) Each correct answer carries 1 mark and no negative marks for
unsolved or wrong answers.
1. The Constitution of India came into force on
02 RongRag) HON wocﬁdg}
A) 26™ November 1949
263 SSorxor 1949
B) 15% August 1947
158 erizs 1947
C) 26* January 1950
2633 w330 1950
D) 26™ November 1948
263 SSoro* 1948
2. The Constitution of India was framed by
PRTBE RoRTID) BFO0T Crinesisd
A} British Parliament B) Dr. B. R. Ambedkar
WEST KRy B, B SO, 0dedo”
C) Constituent Assembly D) The Cabinet Mission
RoNGRS dedse Rl éa‘;ww‘ dcdeert

P.T.O.




10941/A 980 -2-

3. The term ‘Constitution’ has been derived from
"RoNGRT" ow TP B3 Fwee gPBVT U303,

A) Greek B) Latin
nese ST

C) English _ D) French
RONEE FHow®

4. Which is the biggest Written Constitution in the World 9
DTG, 198 BT O3 HoRgHR AR ?

A) India B) US.A.
fAntext 3530€0%

C) France D) England
S, Roriom*

5. How many emergency powers are given to the President ?
Uaa&mﬂ u::—-’q.saeJ BHROT &&Fd@:&a e@ndﬁ@aﬁ%&edmﬁd ?
A) 4 ‘ B) 3
G2z D) 5

6. Parliamentary form of Democracy is derived from
RoRS FOTUBL) o0 (e80T LSORERYTINTS ?

A) America
35008

B) France
W,

C) England
Relergfeied

D) India
%03

7. Preamble consists Three Justice.

TPTE 2,068 T T 00 wiRoR3.

A) Social, Political, Economic
NPT, Cowsdeod), LD

B) Social, Cultural, Moral
e, 0%, 33, 88

C) Economic, Education, Political
SOFT, Zeed8, Tozseod

D) Social, Education, Economic
R0, §8ed8, Lrd

A A
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8. Procedure of amendment of Indian Constitution is

RT3 NoDTOT STTROD DTy
A) Rigid
- folo)
C) Neither Rigid nor Flexible
3¢ TR O Bde FOVIP O,
9. Union List consists
$eoly aiag‘ wonRoBTHI
A) 97 subjects
97 HFodbred
C) 99 subjects
99 HEcHred

B) Flexible
Rod

D) Conditional
Boodh 005,

B) 84 subjects

84 aadridd

D) 100 subjects
100 aHxodrish

10. Which Govt. is strong in Unitary form of Govt. ?
DFEE AU, o3 Rowssy LOGHNEE 2

A) State Govt.
oty ROWT
C) Local Govt.
et Xz
11. Indian Judicial system is
Antex i z&%omor{ r%a'%om)
A) Single Integrated Judiciary
2083t 80730 363 Icdnon q&o
C) Depends on High Court
BB Y soeed D03
12. Which is not a Fundamental Right ?
cdnshcdh seeried Bencoshne 7
A) Right to Resist
T T
C) Right to Religion
r aldy
13. Present Fundamental Rights are
TR shwogins Bdyridd
A) 7
C) 6

B) Central Govt.
deor3 Rdgod

D) Unitary Govt.
geofyeod ROBY

B) Courts are Independent
Breeddr 1ied B JoZeontoda
D) Supreme Court
RDdyco pesrs

B) Right to Assemble
Rt Recha3 B

D) Right to Constitutional Remedies
Rodgemedy Tom0s B,

B) 5
D) 4

10941/A 980




YT

10941/A 980 4 RO O

14.

15.

16.

I7.

18.

19.

Which right is deleted from Fundamental Rights ?
oina ﬁﬁi Swegnd BEYIO0T IrR0DERAT ?

A) Right to Equality B) Right to Liberty
AR 28y w303, 3 258

C) Right to Property | D) Right to Education
shon ) gais oy

Which is the guardian of the Constitution ?

Rogses U8 cdnacd 9

A) Lok Sabha B) President
D01 Fie B DDE&;E'&%

C) Judiciary D) Vice-President
Tyeamon DT TS

Directive Principles of State policy are

caa:i#zjmdﬁw AT il 33D

A) Justiciable B) Non-Justiciable
S0 TEZTERY T 0% TEBBOTFrid

C) Legal D) Educational
0% w%&wd@d@o 3388

Directive Principles of State Policy are guidelines to

Dosg R eTsodd DTier 38 33 nd QU InnERLTINGS

A) Central Gowt. B) State Govt.
#e0t3 XdsT ooz, ROFT

C) Governments in power D) Prime Minister
BQTOBRITHT XEorid Beos Dood

Who has the power to declare emergency ?
Bor aﬂaké@abdl FUDLARO IHTT odRONT 9

A) Prime Minister B) Parliament
Fos od, RO

C) President D) Courts
T T3 | et e ish

Who address the Joint-Session of Parliament ?
RoRSS wotd~ e@ﬁ@#ﬁﬁzmrﬁeé& 0350 R BREERT 9

A) Speaker B) Vice-President
C) President D) Prime Minister

oo B3 BRI =03
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20. President of India takes oath before

21.

22.

23.

24.

R ToRBECED G HRRITY, BRREES 2, B0RRS 7
A) Supreme Court
F2ye0 BRFE
B) Election Commission
hmdre sodeen
C) Chief Justice of Supreme Court
Rodyeo FRELFS F002), TW0IRPEIT>
D) Speaker of Lok Sabha
Sred B30 RPBe
Who is the Chairman of Rajya Sabha ?
ooty B30 By g, cdndd
A) President B) Vice-President
R T BT
C) Prime Minister D) Speaker
Hpos Sood, R
Who appoints the Chief Election Commissioner ?
), 2SR Sod0FTR), 0dRcd BenoReS 7

A) Prime Minister B) Vice-President
T3 Tod T

C) President D) Speaker
T TS AT

Who is the leader of majority in Lok Sabha ?
eieg Ao WS FIE TOLFT) G 7

A) Speaker B) Prime Minister
RT3 BRI 0

C) Defence Minister D) Finance Minister
o w00d Teogomo 3008,

Who is the co-ordinator of Council of Ministers ?

08 Thored Beclnersd ciRd ?

A) Prime Minister B) President
gd ol g3

C) Speaker D) Secretary

PADTE) . PODFEdE
PHR by

10941/A 980
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25.

26.

27.

28.

29.

30.

How many members are nominated to Rajya Sabha ?
Doz Ao, i), REIR DD HRBCrareoRUNRT ?

A) 12 B) 10

C) 8 D) 14
How many members are elected to Lok Sabha ?

Sed ARt Wi, AR T WReSterET ?

A) 425 B) 450

C) 545 | D) 543

Which is the Permanent House of Parliament ?

TOOFRO0LIR DAL FWI OFRHT 9

A) Rajya Sabha B) Lok Sabha
ooz, R dree Ry

C) Committees D) Council of Ministers
A8 - 008, Soowe

Who appoints the judges of Supreme Court ?

Aodyeo Bk msoinaesdaigtmd) Sea0x0z8 7

A) Prime Minister B) President
HS =0 _ w53

C) Speaker D) Chief Justice
TeTod oz, 0003

Where is the Head Office of Supreme Court ?

Ro2ye0 Bresdr S Batosd #eded oLl ?

A) Chandigarh B) New Delhi
BoRena _ SSBBO

C) Culcutta D) Ahmadabad
LU SBRRRT

Who appoints the Govemor of State ?

Tt T ToLTOOCR), 3B Serosy8 ?

A) Prime Minister
L SENY

B) President
oo 73

C) Chief Minister

Boost) w08
D) Chief Justice

Rs), ;YIRS

R R
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31.

32.

33.

34.

35.

36.

Who decides the size of High Court 7
%R T, 0000680 Roa aor, ot G BRIET 7

A) Parliament B) President
Romd) R B8

C) Governor D) Chief Justice
DORY TRV 08, TYENHB

What is the term of office of Chief Election Commissioner ?
203 BMBRHTONY LOToHE ), ? '

A) 6yrs. B) 7 yrs.
6 SR 7 IR
C) 5 yrs. D) 4 yrs.
5 SRrncd 4 I@FD
The Lower House of the Indian Parliament is
$R0ZE Fo33 PS030
A) Rajya Sabha B} Vidhan Sabha . -
S | e Red
C) Lok Sabha D) Senate
Sped A3 Bedees
Residuary powers belongs to
BezpHTTRLD ansg Redss
A) Local Govt. B) State Govt.
,-\—%as Pxter.plo] ooy, FO0
C) Union Govt. D) None of above
Feor3 As0 odRpEe 2

Which Articles contain Right to Freedom ?
ORI DN W08, T BYR WIRoRS ?

A) Article— 14 to 18 B) Article 12 to 35
Hn 14 003 18 e 12 6ol 35

C) Article 19 to 22 D) Article 10to 1
2010 19 do3 22 6R 10 dors 11

Who presides over the sessions of Lok Sabha ?
Re8 0% SQBEBRRVR), I ARF LRI ?

A) Vice-President B) Speaker
CpEsiepEort AT

C) Deputy Speaker D) Prime Minister
OSBRI TR T0d,

10941/A 980
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37. Which house of parliament is subjected to dissolution ?

38.

39.

40.

41,

RoASS odRe NETe) SRk SR WSS 7

A) Rajya Sabha B) Lok Sabha
oo R dres Nyl

C) Two houses of parliament D) No house
RoRIT OG5 FT[ND . O3 O[T £

Which House of Parliament is called House of Elders ?
RORST CIRE BT 0T BT word F3oborRI 7

A) Lok Sabha B) Rajya Sabha
63 7y ooz, Rt

C) Committees of Parliament D) No house
RoRSE RS ol RESER ©Y,

Who presides the sessions of Rajya Sabha ?
ooy, Adodd a@dea‘a{ﬁ#ﬁg‘ 03RO AEFWRBYT ?

A) Vice-Chairman B) Vice-President
TR E, uuaioaa;&

C) Speaker D) President
) L ooms

Who has power of parden 7

gRnmsts 30FT OIRONT 9

A) Prime Minister B) Vice-President
BPS W0 DT TS

C) President D) Speaker
Gaa;ﬁé PIADTIL)

Elections in India are conducted by which Commission ?
1RO, HPRERYR), 0IRE e0dper D R ?
A) Election Commission
2OTIH e3c3nen
B) Minority Commission
00 RoaRFT esodment
C) SC/ST Commission
. | .83, 036N
D) Union Public Service Commission
Feoly e Newwe wodeent

Y/
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42. What is the age of retirement of Judges of Supreme Court ?
Rodyeo BReLIF S S9,000 580 D3 docbﬁg‘ aﬁzl Vi

A) 65 years B) 60 years
65 IRFrish 60 S=rrish
C) 62 years - D) 58 years
62 IF@nD 58 JRrrivh
43. Indian Parliament means
Aoleiafriers sPnla el
A) Only Lok Sabha B) Only Rajya Sabha
geme) dred Ry’ Bedo ooty A
C) Lok Sabha and Rajya Sabha D) All the above
SRR R ooz R 30eOT Q0P

44. Who is the Commander-in-Chief of the Defence Force ?
O3 TR Fos BormotE IRt 9
A) Prime Minister
ged oy

B) President

Pon b
C) Home Minister D) Defence Minister
r@ a0y TEe ol

45. Who elects the Vice-President ?
| suoos TR o3Reh wody Reabeyd 7

A} Members of Parliament
RORIS AR T2

B) Members of Rajya Sabha
Doy, Rejodd AW

C) Members of Lok Sabha
Sre Rgiod AT D

D) Elected MLCs and MLAs
RO 0. . R TOFY 90, .. 7RO

46. The minimum age to become Prime Minister

TBERIIRT SN0 s’:)agam&mem
A) 18

B) 30
C) 35
D) 25

i
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47. The subject post comes under

48.

49

50.

51.

o8 Db CIPPHIO, LI 9

A) State list B) Concurrent list
Doy s, _ A3 e,

C) Union list D) Residuary
geog) 343, ovd

Which one of the following is a feature of the Indian Constitution ?
=] €dﬁ§a§)rﬁdq, ERO80D Bodgons Dé%cﬁm oInRsPHeh 9
A) India is a religious State
RUS %ot ondre oo,
B} India is a secular State
RSP wotd g 3c3 oo,
C) India is a capitalist State
R0 10w Lo o,
D) India is a totalitarian State
WRUBY 2000 B o500 caaa;
Original Constitution consists of
R0 Bodeosy w¥rRoRth .
A) 384 Articles B) 450 Articles
384 gezonsh 450 goaonsd
C) 419 Articles D) 395 Articles

419 goxdonsd 395 gesonsd
Which form of Democracy is in India ?

ROSSY atns scjsaod; gmgm%m ?

A) Presidential Democracy B) Marxist Democracy
orgiead Bamubs, R )

C) Multi party Democracy D) Parliamentary Democracy
WEE BT, . RoR Lt TBh3,

Article 17 of the Indian Constitution abolishes
PUIE Nogoda 1780 gy cadaig{ eI,

A) Untouchability B) Slavery
R 33 TOETHAD

C) Discrimination ' D) Labour
03 e mzzés
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52. What is the minimum age for getting right to vote ? -
BRI BER) Beoren TR Bodpeddd oR), 7

A) 25 years B) 18 years
25 IR 18 SF@rnsd

C) 21 years D} 30 years
21 38 rieb 30 SHrnied

53. Which Article is heart and souil of the Constitution ?
fovirat &)Qoﬁ:z:‘:gt RoNpad %do’b 5}33 Uglzfocb . lelesdlontatall]

A) Article - 14 B) Article —30
o6 - 14 26 - 30
C) Article—13 D) Article —32
ap-13 op-32
54. Right to Religion is one of the
fAnTADLY éa’% nPQ. 1.0moNa.
A} Fundamental Right B) Political Right
Dnoygnd ﬁﬁ% Condecdd ﬁi%
C) Economic Right D) Labour Right
UDFE T, FIOFE Y,
55. Right to equality is explained in Article
RSRS3ah B 81 HOMYY, DIOAT,
A) 12-13 B) 12-18
C) 18-20 D) 14t0 18

56. Which Article deals with Fundamental Rights ?
oI DR Faoeied Beyrida HmorZE ?
A) Article 1 to 10
a0 1 o 10

B) Article 36 to 51

AENE 36 0o 51
C) Article 22 to 35 D) Article 12 to 35
Do 22 v 35 20 12 8o 35
57. Fundamental Rights are
Swoyles BR7IEL DTN ?
A) Justiciable B) Non-justiciable
83,00 TEBTRH oD TEFROBYHri
C) Legal D) Moral
sod utimm‘sﬁ R
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58. Who is the first women Prime Minister of India ?
1RBIT ZFR> Dokt IR o, et 9
A) Vijayalaxmi Pandit
Desobed ¢ Do

B) Sarojini Naidu

Rdpenn SO0ty
C) Indira Gandhi D) Jayalalita
2000 o zebodR
59. Who is the first women President of India ?
0SS P Sodov> TOTS ARTH 7 L
A) Indira Gandhi B) Vijayalaxmi Pandit
Q00T ol DTods ¢ Hotysr
C) Sarojini Naidu D) Pratibha Patil
ROREI ToOL T TUeer
60. The major classification of the Constitution
RoDERING Y020 Sneeddeorich
A) Written and Unwritten B) Rigid and Flexible
o sty w0 | onity s
C) Evolved and enacted D) All the above
LT T ZoRTYY BoedS a0

61. The aims and objectives of the Constitution are embodied in
RODTIT - TOOMIR) %) 6 clnetieBrvs) cRREo) SHeoks 9

A) Fundamental Rights B) Directive Principles
Sapoyes Beynd

Qder BT 23 i
C) The Preamble D) None of the above
26BTYN 0eOF cdnhne g
62. Indiais a State.
WoSH___ oo
A) Sovereign B) Socialist
P AN ABRETO
C) Secular D) All the above
GROFR0DeE,  SxdRa0Re
63. India is a secular State means
LRI 20T dd)?&')d?ﬁﬁi Uaagpodd
A) State is religious . B) State is irreligious
msad) DO TTTT » oad@ TR bt
C) State is neutral religious D) State is anti religious
D RPN ROF TR R GF DR

AN 0
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64. The real executive is responsible to

-13-

J BO,NY | BRI

A) Rajya Sabha B) President
ooty Ry} T3

C) Lok Sabha D) Speaker
g 7y RyRe

65. The Constitution of India provides
ERUSE KoDposa) odng BEss TR0E, BodwodAs 7
A) Single citizenship

B) Dual citizenship
08 T3,

Qs
C) Multiple citizenship D) None of the above
R, BotOF AnTe Y,
66. Right to equality is the fundamental right.
RmREad 8y axe Ravored B ?
A) Second B) Third
HTBSod Saeddod
C) Last D) First
oD

Srdvtod
67. Which applies to the President of India ? '
PRUZE IR HEOR clRaHd e5F,0R3 7
A} Head of the State

B) Head of the Govt.
oo SR

ROE0T FnH
C) Leader of majority party D) Leader of opposition
LRI I FowDoBod e T o0aDored
68. The final interpretor of the Indian Constitution.
RGPS LFFAE 03> ¥RETR)
A) President B) States
zookat fod ooggren
C) Parliament D) Supreme Court
Homid) Wre% T, cdnOoD
69. Sovereignty in Democracy resides in
FoT B9, MIrEPwh BRIER FEIODHIED
A) President ‘ B) People
ST wtabe,
C) Prime Minister D) Civil Servants
e aoy

Soriod ReeoBne B,

10941/A 980
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70. Fraternity means

20503, 2083

A) Spirit of Brotherhood B) Unity and integrity of India
oAt PUIR B0 o) RN

C) Social Justice D) Elimination of injustice
MTT 080 E5,080 JenenaDHdd

71. At present Right to Property is

BRo3 SR0% B8 o>

A) Human right B) Natural right
Bl 38y JANFE =),

C) Constitutional right D) Legal right
RotgRigs 8 PR By

72. Which of the following cannot be introduced in Rajya Sabha ?
NIV, cIReI Tozg RODY, WooBAen wdHHY, ?

A) Budget B) Amendment bill
Sooone T3 SR Deciss

C) Money bill D) Otherbills
Beowoad HTSeos 80 cteotBndd

73. Who is the keystone of cabinet arch 7

TR FUREE decoriey, ol ?

A) Governor B) Chief Justice
erizelle Rooa), T,03RPEBD

C) Speaker D) Prime Minister
RS TR 300

74. Who has the power to increase the number of judges in Supreme Court ?
ApeF Y myodR0HE 0NREBT Ros3 0dR) BT OFT) [ROR BT

A) Parliament B) Governor
ROy T THOT
C) Chief Justice D) President
Boo)), T,odRQeB mmgqg&

75. The Governor of the State can be removed from his office
QR TOLLS COUTOOTY, 50008 SROTILBIT)

A) By Prime Minister B) Chief Justice
B w008,0008 oo, TIPS
C) By Chief Minister D) President :

ans% &ogcmod oaa%qsid:
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76. State Legislative Council is
OOty GRS THORLY
A) Permanent house
B3 IS
C) Dissolved after six years
o IRFNRY Vo33 AR SRedRE
77. Local self government means
Rpead> Ros0RYons
A) Urban Govts.
JIntd Idwonsd
C) Panchayat Raj
Toesooe® oL’

-15-

B) - Can be dissolved
DR RLBOT
D) Dissolved after five years
05 BV Bod xwr SredyRd

B) Rural Government
b RoEon

D) None of the above
oed canme ey,

78. Which of the following is the main aim of Panchayat Raj ?
3 BUNIioE, Tormaner to ot Yo sordes cdnaye 7

A) Making villages self sufficient

maond R,0d0 HoFpear 3 MORIJHT

B) Achieving economic developmeni of village

mEne 4o g am@%&aaﬂi RO

C) Creating political awareness among the villagers
MRV wROQ, Tozsseo Ted odom BAYTH

D) None of the above
eI cIRFTR e

79. Which Article of the Constitution relates to the organisation of Village Panchayats ?
RO 03 DRG0 TR Dorobne Beapsnt Rorodad 2 :

A) Article — 40
403 25

C) Article - 32
328 20

B) Article—14
143¢ 58

D) Article — 51
51300

80. Who conceived the concept of Gram Swara; ?

W Bo0w3 dosoD $3x BRTEAZ) ?
A) Jayaprakash Narayan

RONT T TS
C) Mahatma Gandhi

BoBTY o)

B) Acharya Vinobha Bhave
RPODF IRy ol

D) Swami Dayananda
R,E0 Bodndots
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